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Darcy - WeisbaclEquationfor Pressur Loss overa Lengthof Pipe:
L

APyigion = BWT

APgiion - Pressuré)ropoverPipe[Pa]

f = A -Friction Factor

L - Lengthof Pipe[m]

D - HydraulicDiameterof Pipe[m] D = 2r for acircularc/s

0 - Densityof Fluid [kg/m3]

v - AverageVelocity of Fluid Flow [m/s]

Bernoulli'sEquation:
P +%p\/2 + pgh = Constant

P- Pressur{an

o - Densityof Fluid [kg/m3]

v - AverageVelocity of Fluid Flow [m/s]

g - Gravitaticmal Acceleraton g = 9,81[m/sz]
h - Heightaboveor beIowMean[m]



The valve is opened rapidly.

So putting the two equations together for this fEob
P +%pV12 +pgh, = P, +%pV22 + pgh, + AP,

Assuming densities are the same andlb& on the reference linkg; = -h, and thatv; is
negligible compared ta, (large container, small pipe area) and rearranging

Lo,

R-P-pmh=3p," +f ==

D =d in this example.
Making v, the subject of the formula:
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- Does this appear correct?
- What am | missing here?
- Why doesPam not come into it, should I include ®{ anP; are larger than Patm)?



